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101|R#A7 L 376 203 173| Kg |EE 1,080 540|FfE 1,728 756
102|357 L 1,272 1272 Kg BIE 1,512 532
111|&EEF £ 172 112 60 Kg |k% 1,080 972| k% - &4l 1,728 620
113|RAV S 52 4 48| Kg |E)I 756 540|RI% 2,700 1,944
114|B5EFE 120 120| Kg BRE - &E 2,700 1,080
117[14 % 7 71 Ke fE 3,780 3,240
121{hblE € 24 18 6| Keg |EE 1,620 540|FfE 864
134[#= 256 200 56| Kg |@& - = 2,376 1,200\ R & 2,916 1,944
137|&5E3.< 182 75 107| Kg |k% 4,644 3,240| &R 6,717 1,188
138|#ik £ = 36 36| Kg FfE 1,080
140(5 I 2 2| Ke e[AEs 19,440
147|EZ O 85 85| Kg il 6,480 4,000
158|EIEA A LS 179 25 154| Kg |EiE 1,512 BiE 2,106 648
201{Lvb L 814 814| Kg = - =) 459 216
203|/hd L 88 88| Kg = 324 270
206| = 1F 385 385| Kg RI5 821 352
208| Mo % 19 19| Kg ML 2,106
2094 B & L 20 20| Kg L 1,296
210|1F ALy 32 32 Kg [wiO 6,750 1,080
212|&FE3 Y 407 407|  Kg FIE 1,998 972
251|< B %<3 152 152| Kg BiE 7,344 3,024
254|E b ECH 488 33 455| Kg |fnZri 1,512 T 2,160 1,080
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303[A 27z 7 7l Kg R 582

305|xAah>0b 73 73] Kg i 5,400 1,620
306|Le &Y 9 9] Kg . 1,080

319|2h o 180 54 126| Kg [fIEk 1,728 1,512 {#13k1L 2,376 737
332|= 13 WA =EF 316 316 Kg Bl = 2,484 2,160
351(4EH 30 30 Kg FEE 3,996 3,510
35411FxE<Y 38 38 Kg FIE 1,620 1,404
355(mp Y 65 65| Kg FE - BE 972 600
356(L L& 25 25  Kg SR 1,188 1,080
357|7RE 37 37 Kg FEE 3,888 945
362(m & 286 3 283 Kg R 1,512 FE 3,240 540
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70110 BA 132 132 Kg FJE 1,804 1,242
71019 2 ®HA0F 24 241 Kg =N 1,375 1,305
BlBEFALANIN 382 374 8 Kg [BIR 784 619| = 1,145
755(Fd L 75 751 Kg E=AES 936 524
56| £ 9 5 5] Kg RIE 1,588
759|555 EE L 6 6] Kg =, 1,260
76713725 W\ H 90 90| Kg FJE 1,980 1,800
B01[IBAL = 1S 42 421 Kg ¥ -mA 1,728 1,450
802|1 x| 70 701 Kg gl 1,512 1,242
80413 10 10 Kg blo ] 1,188
805 = 1E 394 3941 Kg bF 1,058 432
810|BAKTF 64 64 Kg biF 2,544 1,566
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507|@— L Ly 110 110| Kg =] 810 702
512| A A L 50 50[ Kg b 1,450 350
523|AEAAT 2 O 453 453|  Kg Bh 1,710 1,111
5h4|E X BA AR 50 50[ Kg £[#=2 1,050 450
558| 10 10| Kg b 1,296
560|487 2 242 242|  Kg =] 4,100 750
566|4R A < 20 20| Kg b 4,000
5764 X 1F 25 25| Kg b 980
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